Math 150 Fal 07 Name:

QUIZ #1 @ 85 points

Solve the problems on separate paper. Clearly label the problems. Show al stepsin order to get credit. No proof, no
credit given

1. Solve the following equations:
a) x> =5x
b) (2-1)" =9
c)2p*-3pb=-1
d) x*+4x*- 9x- 36=0

e) x*- 10X +9=0

2. Find the remaining sides of a 30" - 60° - 90° if the side opposite 60" is 8.

3. Draw an angle of 45" in standard position.

a) Find a point on the terminal side of the angle.

b) Find the distance from the origin to that point.

¢) Find two other angles that are cotermina with the given angle, one positive and one negative.
Mark them on the drawing.

4. Find the remaining functions of q if sing :g and q terminatesin quadrant I1.

5. Make adrawing and indicate the quadrants in which the termina side of q must lie in order that
a) cosq <0
b) sing >0

c) tanqg <0
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